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English - Y00 974

1. Use prefix or suffix to change as directed in the brackets: 1x5=5

a. Nutrition (make it negative)
b. Black (make it verb)
c. Wisdom (make it adjective)
d. Strength (make it adjective)
e. Dark (make it verb)
2. Fill in the gaps with appropriate preposition: 1x5=5
a. The man begs door to door.

e. Parents should not wink their sons’ faults.

3. Fill in the gaps with appropriate conjunction: 1x5=5

whether, as well as, such, lest, otherwise, if, and.
a. A teacher knows a student reads or not.

b. Ibrahim_______ his friends has joined the function.
c. Besincere_______ you will repent.
d. Come to visit my home_______ you can.
e.Walk_____ fast______ you should miss the class.

4. Use the right form of verbs: 1x5=5
a. It was a long time since she (meet) her father.—
b. If I had been a king, I (help) the poor.—

c. Our guests (arrive) just now.—
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vl If a+b=8 and ab=12, then find the value of a?+b??

0o If x+y=3 and x=2, what is the value of x?+y??

o8| If 2x- y=4, then how much is 6x -3y?
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c. Panic seized the young man.
d. Where did you find these books?
e. Do not insult the weak.

10. Correct the following sentences: 1x5=5
a. He is senior than me.
b. Why you went there?
c. The boy sank in the river.
d. Chinese are brave nation
e. I like coffee more than tea.

11. Put a word in the gaps from the list matching their meanings. 1x5=5
hard, Close, alone, shine, soon, shout, tired.

a______ = without any other.
b.______ = not far in position.
Co___ = within a short time.
do______ = requires a lot of physical effort.
€______ = in need of rest.
12. Transform the following sentences: 1x5=5

a. He insisted that I should go. (Simple)

b. He is honest in spite of his poverty. (Compound)
c. Such an old thing is of no use. (Interrogative)

d. Work hard and prosper. (Complex)

e. He always speaks the truth. (Negative)

13. Rearrange the following words: 1x5=5
a. thing/little/is/a/learning/dangerous/a

b. flock/of/feather/the/birds/together/same

c. workman/tools/bad/with/a/his/quarrels
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d. yard/and/and/housewife/a/is/she/house/her/in/works/she
e. a/got/to/scholarship/study/has/Canada/in/Raiyan

14. Rearrange the following sentences in order to give it a sense: 5

He belonged to a rich family. He gave up his luxurious life and started to
think deeply about Creator and His creations. He wrote a lot of songs.
His songs were popular all over Bangladesh and beyond. Hason Raja was
born in Sylhet.

15. Write about the most exciting match you witnessed in the 2022
FIFA World Cup. 7

16. Imagine, you have been given the ability to become anyone/any-
thing for one year. Who/What would you choose to be and what
would you do? Write at least 100 words. 7
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d. The boys (watch) the television at this moment. —

e. He (leave) the house before we went to bed. —

. Name the parts of speech of the underlined words: 1x5=5
a. Let me go now.—

b. Alas! I am undone. —

c. The patient died after the doctor had come. —

d. The patient will come after an hour.—

e. The woman is quite pretty. —

. Combine each pair of sentences as directed: 1x5=5
. She is very weak. She cannot walk. (Use ‘too...to")

. T had money. I could pay the bill. (Use ‘enough’)
. Be curious. You can learn a lot of things. (Use ‘without’)
. I want to read. Please light the lamp. (Use ‘so that’)

. Eat a balanced diet. You will become healthy. (Use ‘by’)

. Translate into English: 1x5=5
a. 252 e Sl 2T |

b. BRGEA (FAIFF AFA2 T FA |

c. T3 qia qia fom Farz |

d. 9% 43 I, T2 AI?

e. TIBI Arerce vl TG J1f |

. Fill in the blanks with a simple word: 1x5=5
a. A man who mends shoesisa________

b. Thesonofaking _______

c. One who makes furniture

. Change the voices of the following: 1x5=5
a. I have done the work just now.

b. Promise should be kept.
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